MATISDS—US/OQ 0lS Quiz2 Prirst Name (Lash Ftr.s-\') ] {o
Show all work onthis sheet, including mental skeps, in a cleady omanized wq% that

speaks for fsel{ | Use proper mathematical notation /syntax, L abel parks , |box final short
anpwers,

@a) Evaluate So x {3-2x dx | l@’ -
X

b) Tf you wanted to check your resull 1n Maple, 3 ,
what single hne maple command would do thic 7 wrile It down exactly as you
would Hype 1t choracker by character, (not for crediy , just Redbac\z) )

c) Maplers vosult is 35-6 Does your answeragree ? Tf so, ghowthat
T"\cg agree . :Efno\') m«abe Yoy should rec‘sech gou.ru)cv—le ?
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